NCERT Solution for Class 1 Mathematics

Chapter 2

Numbers from One to Nine

More or Less

Q1: Tick (v') More.
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Answer:
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Q2: Tick (v') more.

Answer:




Q3: Tick (v) Less.

Answer:

QA4: Tick (v') more.

Answer:




Q5: Count and Match

Answer:

Q6: Count and Match

Answer:




Q7: Count and Match

Answer:

Q8: Count and Match

Answer:




Q9: Make the numbers with the pictures.

Answer:

4 bottles

2 Drums

5 Lanterns




Answer:

4 bottles

2 Drums

5 Lanterns

Q11:
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6 Leaves

7 Glasses
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9 Ants



Answer:

6 Leaves

7 Glasses

8 Potatoes

9 Ants

Q12: Color 5 balloons




Q13: Color 4 flowers

Answer:




Q15: Color 3 boats

Answer:

Q16: Color 6 birds
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Q17: Color 9 mangoes
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Q18: Color 1 elephant
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Q19: Color 7 bricks

Answer:

Q20:




Q21:
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Q22:

Answer
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Write the missing number.

Q23:

Answer:

Q24: What comes before and after 5?
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Q25: What comes before 6?
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Answer:

Q26: What comes after 1?

222

Answer:
Q27: What comes before and after 4?

Answer:




Q28: What are the next numbers?

Q29: What are the next numbers?

Answer:



Zeros
Q30:

Five juicy mangoes kept in a basket. If you pick and eat one how many will be left?
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Q31:

Four juicy mangoes kept in a basket. If you pick and eat one how many will be left?




Q32:

Three juicy mangoes kept in a basket. If you pick and eat one how many will be left?
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Answer:

Two juicy mangoes kept in a basket. If you pick and eat one how many will be left?
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Answer:
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Q34:
One juicy mango kept in a basket. If you pick and eat one how many will be left?

Answer:
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Count and write the number of birds on the branch.

Q35:




How many in the cage.

Q36:

Answer:

Q37:

hY

p b
M s
 Balloons o =

. Balloons I Balloon , P Balloons



< 2

e

3  Balloons

{2 Balloons (1) Balloon {0 ) Balloons



